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Question Booklet SET- E]

UNIVERSITY OF NORTH BENGAL

B.A. 1st Semester Examinations, 2018
ENVIRONMENTAL STUDIES

AECCENVS
Time Allotted: 2 Hours 30 minutes - Full Marks: 80

The figures in the margin indicate full marks.
Candidates should answer in their own words and adhere to the word limit as practicable.

[ Instruction J

The candidate should indicate the correct Roll Number, Registration No., Course, Question Booklet SET on
the OMR Answer-Sheet otherwise the Answer-Sheet will not be evaluated and the candidate will be solely
responsible for it.

Each question has four alternative answers. The candidate has to darken only one circle/bubble on the
Answer-Sheet using black/blue ballpoint pen indicating the correct answer as shown below. If more than one
answer / option is found darkened, then the question will be treated wrong and will not be evaluated.

Example : @ 0 00O
Answer all questions: / (b 20# TEA w1e3 / W Y¥AES B SN fagere:

1. The environment includes
(A) Abiotic factors (B) Biotic factors (C) Both the above (D) None of these
it Twfe Tommaf g -
(A) SteR (B) t&@ (C) Tex} (D) 9T FIADZ 77

ATERYT AR WA B —
(A) 3ifad RS (B) Wfd® sR& - (C) Surfaw g3 (D) T ufy &g

2. Which of the following is net an air pollutant?
(A) Smoke (B) Carbon dioxide (C) Nitrogen gas (D) Sulphur dioxide
farare el agyeeed 7 -
(A)C : (B) FE-TIR WHTS (CO,)
‘ Qi (D) FETER ©IR-SHZG
fr=ifarftaa we @7 arg ugus 815+ -
(A) g3 (B) PR T3 APATS
(C) ArgeTHA= T (D) PR I3 AHATSS
3 Which of the following is not a method of water conservation?
(A) Rain water harvesting (B) Ground water extraction
(C) Improving irrigation efficiency (D) Avoiding water wastage
farare a1l o semmea vl s -
(A) 9fearfa v stze (B) 91€% &t fommre () (b qja%ra Srarey (D) & 953 Y
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9.

ﬁw@mm@mw-mmmw—

(A) T et wizary (B) Tt frecprert

(©) PR zerera Ry (D) urir) gEUATH FH 1]
Region where fresh water meets salt water is called _
(A) Sea (B) Lake (C) River (D) Estuarine
QT R o @ e TR (A —

(A) e (B) &# (C) 7 (D) Gt
TR AT ueh afy I Ty A 9 —

(A) ¥ (B) e (C) 78 (D) ge™
Sth June is observed as

(A) World forest day (B) World environment day

(C) World wildlife day (D) World population day

R T BRIt 2o g

(A) Rt oy vy (B) Ryt ot (C) Ry 3wy Foran (D) Rt Tt fae
3T A% fRaw wrg

(A) faem a9 faay (B) fva wafaror fyaw

(C) fea T=awmofy faeg (D) fawa Swivar faaw

Noise is measured using sound meter and the unit is

(A) Hertz (B) Decibel (C) Joule (D) Watt

I T S RO i offst w7 @ 93 GFF AN —

(A) T6% (B) cefdae (C) @ (D) e,
BT AT vt ARs oYy ey Uhd & —

(A) Hertz (B) Decibel (C) Joule (D) Watt
Which of the following is a non-renewable resource?

(A) Coal (B) Forest (C) Water (D) Wild life
frfefie e w-aisecamy seom ?

(A) 7@ (B) ==y QR (D) It
A A G FhER g T 8 —

(A) Brgen (B) & (C) ot (D) Tsirg
Chipko movement was started to conserve

(A) Forest (B) Grassland (C) Desert (D) Soil
it wrmrers af steamwrer o o % 77 -

(A) =29 (B) grgf (C) wwefi (D) =}
fagsT areTas ﬁwa%ﬁmmavﬁmw-

(A) & (B) Hfengh (C) 7l (D) HreY
The Taj Mahal at Agra may be damaged by

(A) Sulphur dioxide  (B) Nitrogen (C) Hydrogen (D) Oxygen
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ey SRS wie werer wRwHE @ 3w IS A -

(A) T GIR-WSIRG  (B) RCOTe (C) TRTwITe= (D) wf3eer

ITTRTHT HYH AT HEAATS ABATT YRISA Y 71 B —

(A) HEPR—TTE—INAATES (B) ATgET

(C) ETEFIT (D) 3radtoT
10.  Red Data Book provides data on

(A) Red flowered plants (B) Red coloured fishes

(C) List of plants and animals (D) Endangered plants and animals

‘@@ @51 3&° (Red Data Book) (¥ Retx wey (vt -

(A) ¥ ooy Bign (B) 7171 A0SR W

(C) Bfw @ 2wz A (D) Remiaers B ¢ enf

XS ST §F (Red Data Book) & =1 faifed war) =6 —

(A) I A & dIET 76 IR (B) W@ TP ATBEAR

(C) Sefg aify agrrge (D) SdHeIv Iafig AfY Ig 8% aR
11. Ex-situ conservation includes

(A) Zoo (B) Botanical garden (C) Germplasm bank (D) All of these

Q- (Ex-situ) Taw Tt qiat fagdhrs 2 —

(A) Fofearmt (B) Ofw Sy (C) e YE (D) GUHA IR

(Ex-situ) &0 43 16 —

(A) Rifarar (B) T7fy = (C) THweM 3% (D) Sudad W
12.  Energy flow in ecosystem is

(A) Unidirectional (B) Bidirectional (C) Multidirectional (D) None of these

gL =& MIzw -

(A) &3 (B) et (©) TR (D) €TF3 IR 74

giRRefaat T St yars—vdt §0 —

(A) T T (B) famh (C) fafaergedr (D) ¥ ¥ gres
13. The source of energy in ecosystem is

(A) ATP (B) Sunlight (C) DNA (D) RNA

argore *fea Text ze -

(A) ATP (B) ez (C) DNA (D) RNA

uifefeesferan dmr afaaa wa g1 —

(A) ATP (B) gda1 o (C) DNA (D) RNA
14.  Drinking fluoride-containing water results in

(A) Fluprosis (B) Chlorosis (C) Minamata (D) Malaria

/ﬂﬁ/g- UG G (FATH 0| 0 -
(A) grarfm (B) @iz (C) frry (D) et

FARTES a1 Y NI go -

(A) deTE R (B) aeRrgfimg (C) fy=mrer (D) Haifkar ar et
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15

16

Indian Wildlife Protection Act was introduced in the year "
(A) 1930 (R) 1972 (€) 2010 (D) 201
STEP s srawe wiks (v e svafde v -

(A) 1950 (R) 1072 (€) 2010 (D) 2018
Wil aun® o e sRA @

(A) 1930 (R) 1972 (€) 2010 (D) 2018
Growing agricultural crops between rows of planted trees is known as

(A) Social forestry (B) Thum (C) Taungya system (D) Agroforestry

e gw wifae waa®) wigs wow Tesurag Swfore Ao -
(A) e maws () 9w (C) S *wfe (D) Pfw aspyer

TwEEa wEe fRw TR Adieng i

(A) T s (B) g% (C) efiyay worreh (D)’!‘ﬁmﬁ"zﬁr
The mam atmosphere laver near surface of earth is

(A) Troposphere (B) Mesosphere (C) lonosphere (D) Stratosphere
“Rhew swew o aywa wee -

(A) A= e (B) ciprema (C) wrurareuta (D) FbrF
PE avoEE) W v Afee) apvsfaa w8 -

(A) Troposphere (B) Mesosphere (C) lonosphere (D) Stratosphere
Both power and manure is provided by

(A) Nuclear plants (B) Thermal plants  (C) Biogas plants (D) Hydroelectric plants
aft wfe « >z Tewt ewa oz -

(A) *Neeifas fawe Beowa am (B) ey zm

(C) tox o> Bewiwa (o (D) wofagre zm

ffafaaae awive & g3 9@ g9 -

(A) IvHY] WO (B) ardry w3 (C)am 7 693 (D) Sidfaga w@ad

Common energy source in Indian village is
(A) Electncmy (B) Coal (C) Sun (D) Wood and animal dung

wle®r are wiee Ter oren -

(A ) Tampe (B) ®ueT (C) e (D) #13 @ o aef

TTTATT I IH \T_ﬁl]ﬂ ‘j@ m B\T o
A fagah (B) #1ge! (€) 3 (D) a9 3 e wet

Sacred groves are especially useful in

(A Generstng envionmental awareness (B) Prevenung soil erosion

() Year round flow of waler wn nvers (D) Conserving rare and threatened species
‘S (e (Sacred groves ) (X facmx eice Tecad) - )
| Ay ofares wrpesere 9 (1) ¢fu axq wfeqnaee

({ w82 ArareE giae (1)) faae ¢ fawnay withia e gt
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Sacred Groves @ ITAfirar & —

(A) TgTaRA STTEHAT TS (B) 4era e fAfe
(C) TR F&YYardiepy FAeTasd! famt (D)ﬁ?ﬂsﬁmwuvﬂmwmﬁ%
21.  Which of the following series is true about energy flow ecosystem?

(A) Producers—Decomposers—>Consumers  (B) Decomposers—»Consumers—)Producers

(C) Producers—>Consumers—Decomposers (D) Consumers—Producers—Decomposers

ATy e ez FoiRs RS Haw -
(A) Tesiws — Res — Awe (B) Rames — AT —» TeAw
\(CY T — 7 — R (D) U — Tesiwe — R
TRRRIS T3 SO JeTEE At FPrfifed 77 tser w9 3% 8 2
(A) SRS —> JUGEH —> SUHIE (B) 3TEed — IUHIA —> IATCD
(C) SUTTEH — IYHIFT —> HUUCH (D) STHAIHRT — IUGH —> JTHCD
22. Most stable ecosystem is
(A) Forest (B) Desert (C) Ocean (D) Mountain
FECo! IPRTS GO T — za
(A) =T (B) TFg (C) TP (D) *¥e
Favg=T Rer uiRfRerftrs &3 &1 —
(A)ad (B) 7oA (C) §FR (D) wdd
23, Study of trends in human population growth and prediction of future growth is called
(A) Demography (B) Biography (C) Paleography (D) Psychology
G ST 6 SR 3T TIS WIS A —
(A) CoTTIaAR (B) cHAF (C) *nferear (D) AIEE
g SR gfe A wfiawmRe e & sy W —
(A) SRS (B) Sfra= (C) wifE Rrarera srema (D) FAIfdsTE
24. Scientific study of the interactions of organismé with the physical environment is called
(A) Ecosystem (B) Ecology (C) Environment (D) Trophic structure
21 ¢ O (S1S 2ARIATT A FR REAHAS TIIAE 0 —
(A) AESH (B) &R (C) e (D) IMTETIR 15
S sfa ifere gafavor @1 sraRERERIS! AT 9T —
‘ (A) afRftefas @3 (B) wRRefa (C) gtaRoy (D) gfte =T
//2;\) In general, the Ecological pyramid always starts with the following at the base
(A) Decomposers (B) Producers (C) Consumers (D) None of these
Alacts argecsa Hafacs a sl o were e g -
(A) e (B) Terwa (C) AW (D) T RIAIDE 0
grrvrd aiifterds fufas 1 smerefe g 56 -
(A) HTEEH (B) Seureeh (C) SuHIaR (D) A ufy BreA
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26.

-
L 27)

28.

29.

30.

1121

A population isa group of

(A) Individuals of 5 species (B) Spices in a Com@ity

(C) Communities in an ecosystem (D) Individuals in a family
TRy T —

(A) 2z 7 sy wy (B) e SUGE e T
(C) eSTHz S sreemyy (D) *fR wwfs s it
ST W gy

(A) T& gy Tfaeod) (B) TSeT GHRTE®! golfaEed!
(©) IrRRefr™ Tt ey (D) "Rar® @f¥Tes B

The ‘Environmet Protection Act’ was introduced in India in

(A) 1980 (B) 1986 (C) 2001 (D) 2010
ST ““fR S w2 erafis 2 e —

(A) 1980 (B) 1986 (C) 2001 (D) 2010
IREHT TafaRor ¥R srfforas R 7% Wy -

(A) 1980 (B) 1986 (C) 2001 (D) 2010

Recycling refers to
(A) removal of resources (B) reuse of resources

(C) reduction of water cycle (D) removal of garbage

R s @i -

(A) FT™ITwa oyt (B) M0t "= T9eR (C) Wb ®s (D) SRe o
JT—TDT Recycling Y sravasar B -

(A) FeIRTEeTTs FeTay (B) WeTees q7: SuainT iy

(C) Set—=ea1 e ey (D) PIENES Fersy

The cause/causes of biodiversity loss is
(A) Habitat loss

R (B) Poaching of wildlife
(C) Over-exploitation of bio-resources (D) All of these
CERfbTaTs W e g —
(A) I T (B) Il Tt (C)‘cwmwﬁam (D) 9T72 SRy
e ffderdr @1 Rrggfere T R &) —
(A) Tl a9aT &vor (B) TUShiaa! Riem aify amp
(C) ST Huera e < (D) 5ty |3
Acid rain is related to
(A) SO, (B) O, (C) Methane (D) Halogen compounds
THAA (Acid rain) b 3% Foifs —
(A) SO, (B) O, (C) (Fee) Methane (D) MR ey
AT Wiafra
(A) SO, (B) O, (C) Methane

(D) Halogen compounds
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33.

34.

35.

36.

The main aim of Integrated Pest Management (IPM) is
(A) To destroy the harmful plants (B) To destroy the harmful insects

(C) To destroy the weeds (D) To destroy the chemicals
prEs > fFuwe (1PM) & -
(A) #RFTRER T (B) #ow o A (C) SRR R e (D) FPIIfA g2 =

AP P qaw (IPM) B J81 e & -

(A) EHFRT dAeEvd TN 1Y (B) EAIBR® fAIEwaTs A4 T4
(C) STl TTwEwang T g (D) TIPS TeEears A4 g
‘Silent valley’ lies in the state of ?

(A) Bihar (B) Kerala (C) Tamilnadu (D) Goa
FBLeS ToreT (Silent valley) (T ST 6T IR —

(A) R (B) Sifierg (C) 2@ (D) coral
Silent valley &= ST 3aRTd B —

(A) fRer (B) aTfierTg (C) o~ (D) Tar

Coral reefs in India can be seen in

(A) Himalayan region (B) Andaman and Nicobar Island

(C) Goa (D) Karnataka

SRS eI (T ool T —

(A) RaFm et (B) S 8 fRrea@et  (C) ot (D) ¥+

ARAHT TS §A SfSHT IS —

(A) oo B4 (B) 3r<H 3 @R @0 ¥9E

(C) TMrar (D) FCH

The source of oxygen in the atmosphere is

(A) Carbon cycle (B) Green plants (C) Water (D) Nitrogen cycle
AT WFETE T 2 -

(A) T 5F (B) 7@ Tfgw (C) & (D) AT 5F
argAvSEAT SRS B A B -

(A) PTE B (B) eRaY SEfieEes  (C) U (D) TEES uH
Primary consumer is also called

(A) Herbivores (B) Carnivores (C) Omnivores (D) None of these
enefae e o (1 A Ao -

(A) GoTerE) (B) TeAm (C) 7ogw (D) T AR 51
qrafas IpiaTarg Wi e -

(A) SHTETD (B) HIGTET (C) wder (D) B ufy &g
An example of tertiary consumer Is

(A) frog (B) snake (C) plant (D) insect

w17 “rwa CT@TA (Tertiary Consumer) Tu1gas el -

(A) ATe (1) 1 (C) Sfgn (D) coret

7 Turn Over
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37.

38.

39.

41.

42.

1121

qﬁmmsﬁwaﬁ@ﬂaa'?“ﬁ‘ (C) e
(A) R (B) ¥
Minamata disease is associated with (C) NO2
(A) SO, (B) Mercury
b srce R camifh 7= - B) o
(A) SO; (TR GIEAARG) (

(D) pH

(C)NO; (FECBITE GIRSTHIZE)
Minmammmﬁwmwg-

(A) SO, (B) 9T (Mercury) (C)NO2

An example of in-situ conservation is

(A) Gene Bank (B) National parks  (C) Zoo

In-situ FRIWCA 937 Twrzae gt -

(A) = TrE (B) &1 T (C) fofGamrt
In-situ P TSI SSTENT &

(A) ST & B) v vam  (C) RS
The number of Biodiversity Hotspot in India are

(A) 35 (B)4 (C) 18

SR @l terRAfoa 2516 (Biodiversity Hotspot) @3 U1 e -

(A)35 (B) 4 (€ 18
R TT—g fafdear gewde (Biodiversity Hotspot) B9 —
(A) 35 (B)4 (©) 18

An example of Biosphere Reserve in India is

(A) Nandankanan (B) Sundarban (C) Jaldapara
SRS AR fee @7 @i Trrzad e -

(A) TP (B) w3 (C) wemr=iret
RTHT HTH! ST SETevT & —

(A) T=APTT (B) g<xad (C) STefaTURT
The ‘Earth Summit’ was held in the year

(A) 1992 (B) 1990 (C) 1989
79731 59 (Earth Summit) G IQA W3S T —

(A) 1992 (B) 1990 (C) 1989

yzdt §RIE (Earth Summit) gt WU forar —
(A) 1992 (B) 1990 (C) 1989

Ozone hole is prominent in
(A) Equatorial area
“GTEI (ZJeT 2Fh 20 (Wl A —

(A) Ty wera (B) #fefrerm wwra (C) srrofen

8

(B) Temperate zone (C) Antarctica

(D) pH

(D) Botanical garden

(D) Ity I

(D) 11
(D) 11

(D) 11

(D) Buxa National Park
(D) I w817 Twpie

(D) TTT AT I
(D) 2001

(D) 2001

(D) 2001

(D) Tropical area

(D) Ty S
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AN AT T D VI Ugw —

(A) FeT X (B) v &5 (C) wETBRE (D) ST HfeEa B3
43.  The main gas responsible for ‘global warming’ is
(A) O (B) Halogens (C) COz (D) NO2
‘gt TR - a7 v will et S g -
(A) O (B) QiCemTer® (C) CO, (D) NO;
Global warming ® it g8 Ua g1 a9 RPRR B —
(A) Ox (B) ¥ara= (C) CO, (D) NO2
44. An example of renewable energy is
(A) Coal (B) Petroleum (C) Solar energy (D) Firewood
A2 (Renewable) *f&a a3 Twrgaet M -
(A) ¥ (B) CPICBraT (C) G (D) g 31
TRATY] IAT Y IETERT B —
(A) BIgT (B) YR)feraA (C) ®R St (D) TTSX
45.  Which animal is worshipped by Bishnois of Rajasthan?
(A) Tiger (B) Lion (C) Black buck (D) Camel
2158 R® (Bishnois) 3 (IR 2 *[e FCH 2
(A) ¥ B) Bz (C) TR TR (D) T6
TS @) fAwAg (Bishnois) TS &RT B qg@ gol TR —
(A) T ®) iz () Bre T &1 T (D) FE
46. An example of a radioactive substance is
(A) Arsenic (B) Iron (C) Thorium 234 (D) SO;
aafb (oetaEy e THrER e -
(A) o= (B) S (C) Cfdmst 234 (D) SOz
FFeinid gefud! Ter SaTeRT & —
(A) IS (B) B (C) Thorium 234 (D) SO;
47. _The main source of energy in a forest ecosystem is
7 A) trees (B) consumers (C) animals (D) microorganisms
g T et AgeTa e e Bev g — A
M (B) ST (C) & (D) S R
e afefefaE GO IS g Ad 8 -
(A) TEET (B) SuHTaRil (C)uyg (D) GENAES
48.  Development but not at the cost of environment is called
(A) sustainable development (B) unsustainable development
(C) non-sustainable development (D) none of these
. oararas wie ava Tafe aw’ @a A - KT
(A) Fefefia Tefe (B) wfefole Tefe  (C) ol Tafe (D) QTR AR

1121
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49

S0.

N

52.

53/

54.

1121

TR ) fawrerarg wfvs -

The cause of Bhopal Gas Tragedy was

(A) CFC (B) DDT (C) MIC (D) None of these
OO ST webenta e
(A) CFC (BYDDT (C) MIC (D) 9078 IR oy
NS T S ) g — -
(A)CFC (B) DDT (C)MIC (D) B 9 &g
~The person Who coined the term “ecology’ was
(M) Bufo (B) Eamest Haeckel (C) C.C Park (D) None of these
W Yawh =% T I -
(A) T B S @an  (C) BB o (D) T3 RIAME 7y
‘ecology” ¥z ) vefE a g -
(A) gt B)se B () Ry Ry ot (D) T ofy Az
The intensity of carthquake i measured in
(A) Decibels

(B) Linnean Scale (C) Richter Scale (D) Linear Scale
m m ol By —

(A) cefiram (B) ffoem g (C) fbra izt (D) ferfear caen
v USIS o3 & wfymg _
(A) e (B) fafrm @i (C) Rer =g (D) fafr W@

The Percentage of nitrogen in ajr js

(A)21.6 (B)24.3 (©)78.4 (D)27.8
WMM«M‘I’@WQ@ -

(C)78.4 (D) 27.8
ST AZES 3 wwey wfera go —

(A)216 (B)243 (C)78.4 (D)27.8
Ozone layer is important because

(A) Sunlight cannot pass through it

(B) Sunlight can pass through jt
(C) UV rays can pass through it

(D) UV rays cannot pass through it

STOT W2 @Yoy 0% Frare o -
(A) &= 50 fora 376 2fy e onra =y (B)awmﬁ‘mqﬂa&mm
(C) sammﬁm%@oﬁtaﬁmm (D)aamﬁm!lﬁsmﬁiﬁmmm

STATE g ﬁrﬁf%ffiqama%ﬁtjwﬂ—
SRR L R e p— (B)Wﬁwwmm
(C)LV fwes atare o wag (D)va%nmu%wmmw

phic leve] 1o another is calleq a5
(1) Food pyramid (C) Food chain

The process of energy transfer from one (1o
(A) Food web

(D) Trophic level
10

e

B T .
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@ 2ffdF -
ST R 4% I W (R S ) WA WIS O A —

(A) SHEEE —
< st s Pafe ©wenm O
WET Tael gt wRATe 3@ g WREH Ul TR §7 -
(A) @TE ST (B) @re™ Rifrs ) §Y
55.  Deserts harbo . (C) wre H@er (D) WEd N
. o S dr:rh ur the following types of plants
ydrophytes (B) Epiphytes (C) Mesophytes (D) Xerophytes
TFGRITS (¥ 4ATa BYW ~ieT T ©f 2o -
(A) TR (B) arth (C) T (D) AT
TR T TP SEfNE TET —
(A) Hydrophytes (B) Epiphytes (C) Mesophytes (D) Xerophytes -
56. Mangrove plants have the following characters
(A) Pneumatophores  (B) Fleshy stems (C) Stolon (D) None of these
eSS iRy 2 -
(A) T (B) T8 (C) GBI (D) 0 FICADR
g qred! faRwa 8-
(A) Pneumatophores  (B) Fleshy stems (C) Stolon (D) A U BT
57. A species confined only to a particular area is called as
(A) Epidemic (B) Endemic (C) Pandemic (D) None of these
aﬂmﬁaﬁﬁﬁmﬂmﬁwmwm—
(A) afFrehie (B) GTefi (C) TSR (D) GUF3 GPICADL T
vger fRa BFAl U gorTfereTg WS —
(A) T (B) 3@ (C) arTef® (D) T afT BT
58. The mega-biodiversity country is
(A) India (B) UAE (C) UK (D) Egypt
e (Afecard (Biodiversity) ¢ 2T -
(A) ©F® (B) UAE (C) UK (D) fomr
3 fafaeadn wT@ 0 i
(A) ¥Ra (India) (B)g T § (UAE)
(C) aga aftrrsa (UK) (D) frer 291 (Egypt)
@\) Algal Blooms ar¢ connected with
——(A) Biomagnifications (B) Eutrophication (C) Trophic levels (D) Producers
g afe TECET (Algas Blooms) X ol 2 -
(A) ArErpfE  (B) el ©) pLAE (D) Bet
Haqa1 a3 o @ rafrrd B -
: (C) giftd ®R (D) IcUTED

(A) armanfafed e

60. PAN is @

(A) Primary pollutant (B) Secondary

1121 1

pollutant (C) Tertiary pollutant (D) Non

e of these
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s T - T (D)mmmw
(A) eefir e (B) O wa (C) DrafFme N
PAN %=1 & qf¥rs —

gfa® wgus (D) BT I BT
(A) urifss g (B) 7ol Ugeed (©)
61.  Which of the following is not true about HIV?

(A) It weakness the immune system

(B) It accelerates the spread of tuberculosis
(C) It is caused by a virus

(D) It is spread by mere physical contact
HIV @3 cwta Ao ot = o ¢
(A) ofb ot ofbrmes g T e (B) oft T R RECE SIS I
(C) «ft si%z s ey (D) aft =ififd =oefa Wy fica Refee o
Frfofes w8 7 =it HIV a we HER]
(A) T6 immune system s e IS
(B) T9A BHRNT (tuberculosis) # Tfyerg Te9B
(C) A WTRES TRV 9
(D) A ERY RS WHERT B
62. Biodiversity is important because
(A) We depend on it for food and other items
(B) We enjoy it
(C) We depend on it for medicine
(D) All of these
BT tafoay ez rae —
(A) B A9 € a1 Rrenefr oy b Bor s
(B) < @z srmaes oz
(C) @xvea oy s B arm frea 313
(D) <72 7aahy
i 1 fafduar ga@ sl @ g
; (A;MW&%WWMWMW
(B) THET B ayrree iy et
(C) BT sirwehvan faeedy 941 fady gt
(D) 3udar wa

63. Carrying capacity js
(A) The number of individuals environmeng) Carries

(B) The minimum number of individuals thay €nvironmeny can sugtaj
Sustain

(C) The maximum number of individuals thay environmen €an systai
Sustain

(ID) None of these

1121 12
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65.

67.

112]

RLT ‘F:;T (Carrying capacity) &T#! -

A

(A) 9% Rt Toaf gfe gre (Individuals) 78 FATS *Nta
(B) TTON (0 IT& @33 eyt wafd sifdram utae wvars *ica
(C) wftFex @ I 9avas e aef offagas

o - Hi39 FATS LA
TE &A1 (Carrying capacity) ¥ @ q370

(A) TR U s ®) seEn

(B) f¥mess Fmram |

(C) AfFEd® AfdHTs d&h W R w98
(D) RS F{ ufy &g

While travelling by bus, where will you throw the plastic wrapper from your packed food?

(A) Out of the window (B) Under the seat
(C) Beside the seat (D) Keep it in your bog and throw in dustbin
ACH F R T G IR YAICER *ICPUA PO (ISP GG (P ?
(A) e e e (B) Siba wamm
(C) oz #e=t (D)) T AT G AT TR T (R
Tq A e A TRy wiRed IR FE wHg I8
(A) Rasaiare TfeR
(B) freat gfA
(C) faea! vea
(D) 3BT VR IS FIMEA dustbin AT FRT L)
are used as
) refrigerants (B) insulators (C) aerosol propellants (D) all of these
CFC 33Ze & —
(A) GfFea 3 (B) Tpena
(C) ST (TS 2 (D) a7 FFHL
CFC @ Wi FEl §9 —

(A) oAl (B) 3Gl

An example of an abiotic component

(A) Plants (B) Soil (C) Animals (D) Bacteria
einga wwirda et et -
(A) Tign (B) W (C) @ (D) B
(A) Fafie (B) AT (€)Y (D) st
The one-horned rhinoceros }6 now restricted to which State?

' (C) Assam (D) Uttar Pradesh

(A) Maharashtra l}i) (jujarat
13 Turn Over
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68.

69.

70.

71.

T T 11 9wR At M -

(A) wzrig (B) 0TS (C) S (D) T&3 21t
U Rt A1 afke e srwm A gt o

(A) TBRTS (B) oI (C) 3mamH (D) SR "2y
All species on earth together with their environments collectively comprise'

(A) Lithosphere (B) Hydrosphere (C) Atmosphere (D) Biosphere
BPITS It 2w wta w1 OFCI T A —

(A) PR (B) 22w (C) abafeama (D) e
R ™ R

(A) ®reHvsH (B) Sromved (C) argavsa (D) SiaHvSH
The place where nuclear disaster took place

(A) Washington (B) Chernobyl (C) Bhopal (D) London

(A SIS 1] 71 wrbrg —

(A) eTfirty (B) GrTIRe (C) o= (D) #req

(A) Washington (B) Chernobyl (C) Bhopal (D) London

The main energy source for the environment is

(A) Chemical energy (B) Bioelectric energy (C) Electrical energy (D) Solar energy
HRTIT 2t =fa Tex zgem —

(A) 7Tl =fe (B) I-7=efls =& (C) Rppe =fes (D) Gz *f&

(A) Irafae sat (B)tﬁaﬁgﬁraim((:)f%rgﬁa;aa‘r (D) ¥R 3wt

What is desertification?

(A) Conversion of forests into desert (B) Conversion of croplands into desert

(C) Conversion of grassland into desert (D) All of these

T2 B g

(A) Tgfa Twgfice wirea (B) *PTgfim wrgfits meimwg

(C) vergfam wrgfire wmeirea (D) a3 Y

HEqfadvor @) 81 ?

(A) FTATAD HEHAHT TR (B) P wferr wure

(C) aragfam aeqfim sara (D) Wiy w7y

Which one of the following problems is not created by noise pollution?

(A) Diarrhoea (B) Hypertension (C) Deafness (D) Irritation

formre carafl =% waa arare eu i y

(A) wrIfan (B) T a@b1+ (C) afae (D) Sy
14
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73.

74.

75.

76.

77.

1121

fy=fafaa @1 avwn difR wafy
D YGHUT B HRUTSA -
(A) TRaTE (Diarrhoea) L

(B) 9= &xdTg (Hypertension)
(C) ] § (Deafness)

(D) fe@® & (Irritation)

trees shed their leaves during dry winters

(A) Evergreen (B) Deciduous (C) Coniferous (D) Thorn forests
L TesEE e = -

(A) fomrm (B) ceFrgamt (C) Ty (D) %% &

_ >EEvd gwdl aeem uiEe RS —

(A) HITTER (B) Frg-aret (C) gfremfera (D) BT STl
Which one is nature’s cleaner?

(A) Consumer (B) Producer

(C) Symbionts (D) Decomposers and Scavengers

e D eigfen R 2

(A) IS (B) Teotns (C) Fraws (D) REes € FITSe
YGRS AHIT B B —

(A) STHIEIT (B) SRS (C) TBuirdl (D) JTTEEH Ay TS
Extensive planting of trees to increase forest cover is called

(A) Agroforestry (B) Afforestation (C) Deforestation (D) Social forestry
T g BrwCey RS TRCACAE T —

(A) STl FTER (B) SUIRTIC, (C) Tt (D) G TR

44 STe gereqd! fAfk Add & 09 PIATE AAB —

(A) FR i (B) AT (C) T (D) AR arfiat

Air pollution is severe in

(A) Metro cities (B) Industrial areas  (C) Densely populated area (D) All of these
g el e O -

(A) TR (B) Freee=t

(C) A wearfesd uwa (D) T T HL

gemfad a1y dgyU-HEw —

(A) RETHETH] (B) 3irenfirs STETHI

(C) #fd® STTHTAI qUE] BABEH (D) Sugad &

Animal dung 18 ~ waste

(A) Biodegradable (B) Toxic (C) Non-biodegradable (D) Hazardous

218 4] (1 G 4G

(A) Eraefacaen (B) fenre (C) w-Saffare (D) 3

qefEEd] Al TR A

(A) Sra Afafrmeia () A (C) srifas Afafraoia (D) WaRAT®
15

Turn Over



T T " —

e T L S T——— -

UG/CBCS/B.A /15t Sem./Environmental Studies/ AECCENVS/2018

78. Green Revolution is associated with

(A) Aquaculture (B) Pisciculture (C) Agriculture (D) Sericulture
Y@ e T2 3w v -
(A) SRS F1ersta (B) % ee1a (C) B Sram (D) Cmefa 51a
&R HiR® waw v -
(AYF8 oI (B) W o R (C) Y R (D) Yeraré) frer

79. Bears are usually hunted and killed for their

P (A) Teeth (B) Skin (C) Nails (D) Internal organs
IO T S o w21 o s -
(A) " (B) oTret (€ (D) weraRe =
g AR o gan T BRI FAfte TRs -
(A) ST @t (B) BTAT®! o
(C) T amh (D) Py (am=aRe) siar @t

80. - The complex network of inter connected food chains is called__

;- (A) Trophic level (B) Food Web (C) Ecological Pyramid (D) Ecology Chain

TN 3 wber s sreea Rofere 7w 4 A
(A) M wr (B) IW e (C) et Prfie (D) e s
mmmm—maﬁaﬁaﬁzﬁmﬁ%wmw
(A) 7% =R (B) @Ter STt
(C) mRfRerfas Rwfe (D) wiRReferes syge

X
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